[ ! ,
(thermal  efficiency, )
(€ ) (Effectiveness, exergetic efficiency, rational

efficiency, second law efficiency)

2.1 (enthalpy)
(enthalpy), H, ( ,cal,
Btu )
H = Vv (2.1)
H = du+dpv) (2,2)
H = du+pdv (2.3)

AE 0- (2.4)



(specific heat)

Q)
Q
()
()
AE
AE = AEk+ AEp + AU
!
( AEp )
AE = Al
(2.4) (2.6) AU = Q
du = bhQ-SW
28 @9 @)
H = 6Q- pdv + paVv
H = O
(2.10)
!
V cv = | Dv

o

D
=]
I

—_

R/ "D

(2.5)

( AEK )

(2.10)

(2.11)

(2.12)



(2.10)

cp ( BH/ -9T)p (2.13)

(2.11) | (2.13)

CdU QCvdT (2.14)

CdH = CdeT (2.15)
1 2 (2.15)
H Cp
ah = Hl- = Cp(Ta-Tt) (2.16)
Cp
Co = a+hbT +cT2 (a,b,c )
H2 - HL = f (a +bT +¢T2) dT (2.17)
= a(T2-T1)+(b/2) (T22-T21)+(c/3)( 32~ 31) (2.17%)
2.2 (exergy)

(exergy, EX)
10 Po

] (open system): Ex = (H-HJ - T ( - 0) (2.18)

(closed system) Ex= (- 0)- To( - 0) (2.19)

«



2.3

231

eq -

feq ~

(2.20)

) X 100 (%



2.3.2

241 7

]

(control volume)!

Dashed line defines
control surface

% . M
T ¥y T (includes work
( 7 v associated with

D ) a rotating shaft,
| ax - "N\ / displacement of
the control
- surface, electrical

Y A s\ - effects, etc.)

F| re%%e%qwmmmmmkimmasmmm

2.1



«

dEMV

dEcv/dt

Q- W

2.4.2

d Ex
dt

Vi

Vi ’ 1k

Lch+(v2/2) +@ 1+Q- Wy

(steady state)

Shi 1+Q-WArV

i1

E i

= CI-(To/Tj)3Qj-CW=v-po(dVr.v/dt)3+

(steady state)

.;._‘hx

[h+ (v2[2) +9Z31 b 1+ feQ -few'v

(2.22)

lex -

dVevidt =0

(2.23)



A\
AEx = [I-(To/T):dQ - (W-po AV) - ToAs
.FkCI-CT/T) Q
( -PO AV)
ToA =1
(Lrreversibilifcy)
2.5 ? ]
1
» Jhma m ———
i
|
E
»
Q + AU
mC (T2 - Tt)
1= [mCp (T2 - 3/ .

| ® =0

(2,24)

T1
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AU = mQp (T2- T4) (Cpc Cv )
11= Al = mlp (Ta - Tt)
1 = me(T.--ll)x 100
W
= 100%
£ = | ) x 100
)
(2.19)AEx = Au - TdAS |
AU = mlp <Ta.- T1)
AS = mQp In (Ta/TY1)
AEX = mCp C(Ta-T1) - Tol (T2/T1):

AEx | _

(mCoMB)[(T2-T1)-T0In(Ta/T1):

OMp(T2-TY)/ Lt cl-CTofm2-1 O]In(TalT 1):

\CI-CTo/TZ-! D In (TATY3



2.6

2.6.1

dii

T1
T2

27°c - 300 K
T 300 K
330 K
e = . 1-000/30)1 (330/300)]
X 0.047
£oa 47T%
1 \I{ , [N
1
1 £ =
|
[

(Multicomponent system)

(Chemical potential)

(TS - pdv)

compoeUion fixed

(3 /1

)‘\/jrompoBition Fixed

(' /'3V)'|£20Titpositlon Fixed
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1

(, V. Nt N2, N

Nk (k = 1. ) k
total differential

du =ou/9S)VNIS+0 /"3V)6 NIV+E OU/3NJBLVINIINE (b)

N
N1
k

() T=OUM W 1-P =(s N MBN (C)

(chemical potential) k

>, = ("™ ['SNKBIVNI k= L. (d)
(c), (d) (b)

du = TdS - pav +\L.MN (2.25)

= TIS-pv+ . Nky~k (2.26)

G = . Nkya (2.27)

G = H-TS Gibbs free energy



2.6.2 (phase equilibrium)
A B
ds dSt + 458 > 1 (f)
(phase) 2
12
(f> (2.25)
0 cwl‘a-)-(m» WAUA + ¢ (P* ITA)-( P, T, ) D4V
2 IT.)-(M/") N4 - [(M4/T)
<A UYT%H>MNm (9)
2
|
dS =( UT) (/"% - ) dNiA > 0 (h)
N 14 [ 1 B A
B>/ 4, dNU >0 1 B A
yulr <i 1A * dNIA <0 . 1 A B
[ I
2.6.3 (Ideal Gas Mixtures)

13

, H



- Z Nm ® ®
H 1 1 u
G = H-TS H 1
G \T Nghg (T) - T N
G £ N G (T.pk) (2.28)
(2.27)
A G, <T*Pk> (2.29)
(2.29) (chemical
potential) K
2.6.4 ?

(thermo-mechanical exergy) Exth

(chemical exergy) Ex"1
Ex Ext" + EXx"h (2.30)
ExtH = L) Ak (extH)k 2.31
Ex-h = % (</£o ) A> E2-32§
QA fiv cl
> <@ = Gk (To.p0) +RTo In (Pk/ Po)

P
1

G, <T0.Pe) +RTo In (P°k / Po)



Pk (partial pressure) k
p°k k ?
(2.32)
Ex" h RT=£ N, In <p_/p°k)
P=P0
=m = R To Nk In (xk/x°k) (2.33)
o™ = R O0S XIn (xkx°K) (2.34)
( )
? (
)
P
a T «l, «21...,xn

ex = %Xk éxk + R To /Q 1 (xkix°k) (2.35)
exk k
2.1 ? (chemical exergy)

A
AA+bB _* ... cC+d (2.36)

014141



Auat B
1 C
2
change)
1 atm)
Aex
AexPH
AexcH

superscript
Gibbs free energy

(25°, 1 atm)

2.1 ~

(standard exergy)

16

(physical
exergy

exergy

(chemical change)

thermochemical  (25°

(02, H02, C02, H20 )

AexP* +  AexcH (2.37)
S [To (- 1) 111111 (2.38)

-AG* =N ,ea“ame'G prod Ut e
(2.39)

"std"

2.3
25°c, 1 atm



I O =2 <©

Rb
Ba
P

2,1

1)

kd/g-atom

1.07
0.33
414.92
117.67
853.16

788.61
368.33
108.57
360.96
387.04

614.39
885.18

23.48
461.47
872.62

607.22
310.27
389.76
184.55
1059.11

Cr
Sr

Ni
Cu

Li
Ce
Co

n

Nd
N
La

Pb
Y]
Th
Ga
Ta

D

kd/g-atom

547.70
771.53
695.80
243.58
478.97

822.17
372.11
1119.43
288.54
515.97

337.60
932.90
1137.56
878.57
983.05

337.44
718.91
1165.44
496.42
951.15

Cs

QX

Br
Be
Pr

Sc

Hf

Er
Ho
Eu
b
Lu

()

kd/g-atom

610.58
393.45
493.37
963.34
933.32

34.37
594.54
926.62
386.46
907.20

958.73
1023.74
124401

11.98

936.13

961.64
967.10
872.92
947.15
918.13

Pd
He
Ru
PL
Au

Ne
03
Te
Rh

17

0

kilg-etom

409.90
304.33
169.79
25.62
84.47

894.73
296.87
412.62

62.58

27.08
297.25
266.48



22 11 ™M 13
(kdnol)

AL°. 0 F«OH)a
ALCL 229.94  FRO
AIPCa 67.14  FeBra
B0 263.26  Fea 100
By (KOb), 0 FeAlaOA
) 2068
BaSO" 36.71 0
BuCO, 65.93 H
0 106.20  HCI
C«(OH)# 48.85  HBr
1 707 H
CeSO . 2Ha0 0 HhSO*
CaCoB * « 0!
Cx0. 0 Hgo
¢, <PO,) 0 HyBr
00 . Si0a 1116 (g
B0 . AlaC# 8 83.89  HfaSO"
0 . FRaCa 39.64 KA
© g 219.67  KBr

¢ 2013 K
Qo 8 351.20  KlOa
Cua0 8 813.85 K,CO,
Cja<OH)aCl 0 KCH
CoS 1032.66  KHaPO
CuSOA . HO 41279 LiF
Cuc) 8 382.52  LICL
*0, 0 LiCl . H0
2nC0a 2650 Foyec
FeO 126.21

23 M1
fihtnou »ook imibtnou
(kd/mal)

* g 8378
o g 150296 «
Co, g 21626 .,
‘ g 28192
. g 34783  CHO
oy 1 34772 CabaCH

CaHIH
o g 41365  CHM
-~ 1 41326 CaHlIOH
3 g 41953 <y
‘ 1 47883

HCOCH
v g 13687  CHaOOH
oy g 20135  CaHIOOH
CH=CHCHa CHa g 25294  claHalOOH
co g 12745  CaHaOOH
CHaC=CH g 19093
. 1 30877 HOOCH

® s @O T Q ~ = e

CcoO O o e = oo

[==)

8

»  Bxtl
(kdfrol)

30.14
12211
222.07
218.01
103.23
235.34

8.58
154.59

45.84

98.58
145.42
160.03
113.78

27.88

07
157.91
2.01
40.77
97.33

128.712
691.32
83.93
9.80
11.39

98.37

LiCH

LiCOa

HO

W,

HCOa . CaCla
MgBr
MtKCa>a
*gcoa
M*Si0a

Hoo . FRaCa
HgS0"
H*<POJa

" 0.

" 0.
Mn(CH)a
H0a
MnSiOa
H
KO

»,
NeNCa
KiOH . Ha0 -
KaCl
KaBr

Wl
*(;

imiberaii

CHaO00GaHL
H)a0
* i ‘110

cer
CHaBr
Chal

— e @ Q@ Q - e Q@

(kdnol)

47.46
32.36
46.63
69.24

183.64
37.13
22.60
10.59
41.19
58.27
63.63

47.26
108.42
85.40
66.01
719.37
0.67
88.95
55.63
336.85

94.19

45.88
67.06
94.14

L%

(kIBQI)

22814
1423.6
2719.9

542.55
1168.7
1757.0

732.98
643.02
531.46
440.21
776.34
615.73
1020.6
35204
3294.8
3165.¢
33103

N*HCOa
* 10,
NftNCa
NiO
NiCla
NiCls . 6H3
KI<0H)a
Nisor
PO
PhOa
PbCla
PhBra
PhCIOH
PMOH)#
PbSOA
PbCOa

0)

10,
SiCIA
",
Sn0
o
ZnCOH)a
ZnCla
Zn(K3a)a.6Ha0
nsor

o Tibtren]

"oy,
CHaCN

00CKHa) a
"0,

»ow,

« .".,0.
‘ -1»r10--
‘ ~v»v10--

[==]

— oo Q «

(==

8

— Q

JLS

(ki/BOI)

48.85
153.54

33.74
3135

35.37
98.54
3.93
150.36
12391
70.12
146.09

12420
138.98
13245
310.86
809.00

326.89

260.92
21.10
2147
14.99

77.86

(kimol)

1031.2
12837
691.03
32241
3461.7

2997.8
6025.2
6034.0

2819.4
4822.9
3380.3



2.8 f

| f fs (fossil fuel)
exF = (LHY) +To AS"td296 (2.40)
LHV (low heating value)
0 = 298.15K (25°C) "td2B
, i f
$ Ranfcz
exp 0.95 (HHV) (2.41)
exF 0.975 (HHV) (2.42)
1~ exF (LHV) + rw (2.43)
(HHY)
r 1 atm, 25°c (2,438 ki/kg)
if (-)
(2.41) )
f
|f 3
(1)
2) ( )
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€ra

(physical  exergy) To
= 298.15K (25°C) p=1atm
(standard exergy of fuel)

2.4 ( )
2.4 2.3
Xk
1 2I4 1 1
1 - I 1 + 1 I I
ex“tdF -%chk ex“tdk R'To 4z]::iXk In Xk (2.44)

R (03710 kJmdN . K

exF)



2.4 :
Exidi Exc
kcal/m3N  kJ/m3N kcal/m3N [ m3N
H 2480 10380 C 7990 33450
60] 2740 11470 2235 93560
CH. 8520 35665 (Ao 10970 45920
CA 13120 54920 A 3 11140 46630
C2H. 14050 58814  c6h6 9830 41110
CA 15510 64925 CA 2 10850 45420
c3n6 20730 85780 CA . 11140 46630
C3He 22300 93350 C A A 9940 41610
CHI0 29070 121690 C7H16 11150 46670
H2 5290 22144 oA o 11460 47970
nh3 3500 14650  CH3(H 5020 21010
C2HSCH 6880 28800
exF
tex] = (LHV)(1.0038+0.1365[h/c]+0.0308[0/c3+0.0104
[/ ) (2.45)
t exF = (LHV)(1.0054+0.1519Ch/c3+0.0616[0/c3
+0.042 [ 1 3) (2.46)

« 1 0

« »
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(LHV) Lkgi hyc, o,
if (mass fraction) , ,
f
)
2.9 (exergy of reaction)
i f
f
f
' if
f
1
i f
(coke furnace)
i f :
if I ,
if , (dry
distillation) , | f (

Gibbs  free
energy)  G'td if (1 atm, 25°C)
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291

2.1
2.3 25°C,
1 atm

N2 Ho° (0, Al
mole frachiont 0.2034  0.7557  0.0316  0.0003 0.0090

°9 1R To In (1/0.2034) = 0.943 kcal/mol = 3.948 kJ/mol
N2 1 RTo In (1/0.7557) = 0.166 kcal/mol = 0.694 kiimol
€02 fft RTo In (1/0.0003) = 4.81 kcal/mol = 20.108 kii/mol
h2° | RTo In (1/0.0316) = 2.05 kcal/mol = 8.563 ki/mol

AG_t' 18

(1) C+ 02-—% C02 - UG =398.7 kdmol
C 201 +398.7 - 3.9 = 4149 kj/mol

(2) K+ (I12)0a—) HO - AG = 228.7 ki/mol
KO0 rifft 8.6 +228.7 - 1.97 = 235.3 kOlmol

o
0B

(3) 2Fe + (3/2)02= Fe,0. -AG 7426 kimol



Fe203 ' ' '

0

Fe (1/2H0+742.6-C0/21x3.953} = 368.3 kii/mol

3 Fe + 202— - Fea¥ - AG = 1,014.7 ki/mol

FeaOd  * 3x368.3+2x3.95-1.014.7 = 98.2 kii/mol
blast

furnace
Fea0d + 4C —) 3Fe + 4 O
98.2+4x414.9-0x368.3+4x279.7) = -465.7 kj/mol

465.7 kI Fe304 1 mol

2.5 G'1 230



2.5

Fet+1/2 02
2Fe+3/2 02
3Fe+202
Feg04+4C
Ca+1/2 02+C02

+02
S+3/2 02
Si+02
Pb+1/2 (2
PbO+H2 04

10 2+Fe0
Si02+2Fe0
Si02+Ca0
AI203+3Ca0
FeO+Ca0+S 102
57.6+12.0+30.4
FeO+CaO+Al203+
Si02
39.7+15.2+9.2+
35.5

FeO
Feoe

3

Fe3°*
3Fe+4C0

CaC03

S
503

Si02
PO

PhS04+H20

FeSi03

Fe2S

104

CaSi03

CaaA

Fe0.Ca0.Si02

Fe0.Cad.A1203.

Si02

1A

100.0

100.0

[kimel3

244.5
142.6
1014.7
-465.7
130.7

300.3
370.5
675.1
189.0
162.8

-33.66
-89.04

CkJlkg

4379
6647
6057
-2780
18230

9368
11560
30520

913
187

-188
-163
-166
-322
-603

-557

Fe
Fe
Fe
Fe
Ca

Si
Pb
Pb
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2.10 (
4
1) (kenetic exergy)
2) (potentiel exergy)
3) (thermal exergy)
4) (chemical exergy)
3
(thermomechanical exergy)
1 2 I
3 4 [
70 1 PO
2.10.1
) herd
[ [ Q [
[ 7 () Q [
Ex = Q¢(T- [0)/ T3 (2.47)
2) [ T>T)
[ ( T

ex h-ho-'0(-0) (2.48)
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. ' . (T > 0, I )
ex = ﬂc"p Cl-(To/T)3 dT (2.49)
c"p (
o, (T >0 >10)
ex = g 'n Cl-(To/T)3dT + roCl-(Te/T0)]
+ c'p Cl-(To/T)]dT (2.50)
To
ro
c'p
(T >Th>TL>To)
ex = £ET (0 JdT +rfl 1-(e " ]
+ C'p Cl-(TofT)3dT + rl !-(To/T1)]
+ Cp !-(TO/M)]dT (2.51)
T1
rl
Cp
3  ? T<T)

(2.48) ]
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(T < 0, )
ex = XT 0CI-(To/T)3 dT (2.52)
. (T <TO < T0)
ex "jc @-(To/T)sdT - 10CI-(To/TO)]
+ 0 Cl-(To/T)]dT (2.53)
(T <T1<T0 < To)
ex = 1T @ (To/m)3dT - rtCL-(TQT L3
+ k0 [I-(Tom)3dT - roCl-(To/T0)]
+ ¢"p Cl-(To/T)3dT (2.54)
) Perlisd )
P> PO
Po
1 mol» ex = R TocIn(P/Po)-{I-(P0a/P)33 (2.55)
Im ex = (R To/NTnn(P/Po)-{I-(Po/P)33 (2.56
il (13) 1 (1 atm,

0°C)
1 m3N!

ex = (NR TO/V)[In(P/Po)-d-(Po/P)}3 = (P In (P/P0)3-CP-Po3
(2.57)
N
Vv (m3)
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! ex

(2.54)  (2.57) |

(P < Po) ]
9)
r 3 1 mol
X#x2,..1xl (2 =D S (T. P
eX - 2,|x19X1+R 0 by x11n x1 (2.58)
ex1 i
! X10 (=
1, 2....1) 1 mol Ca
XL(i=12,., )]
ex - RTo Zj x11 (xdlxio) (2.59)
T
X (ex 1 mol)
ex = (I-x)[C'p{(T-To) - 0 In (T/TQ} +R 0
Ox In(x/xo0i)+( 1-x) In(1-x/1-x 010} 3 (2.(50)
¢c'0 = ¢0(1x) +cpm (2.61)



pw

EX

X

EX

2.10.2

X0B ?

1 mol
1xlex, tRTo Zz, xt In (" X1)
™.f  fugacity coefficient
? }

A 1 mol
4 x4 (i=12,., )

: AN
%_11 Xlex1+ R 0%“1 x1 In x1
ex 1 i
9

%S. Xlex1+R 10 Txl In Bl

A

al  activity
? 7
( A
A +B —- ¢C+d
ex" " 4 ex*"

CH-H™d)-To( - ™ )3, part . te
G =6 rsactants -G*

produrtk

(2.62)

(2.63)

(2.64)

(2.65)
(2.66)
(2.67)

30



exPM physical exergy
excH chemical exergy
superscript std

?

31

(1 atm, 25°C)

(2.68)
(2.69)
(2.70)

(2.71)

+ 0.0308(o/c)
(2.72)

exF = 095 (HHV)
exF = 0975 (HHY)
eXF = (V) +w
HHV LHV
[
5 4 RN,
X1 (i
(1 mN)
ex“tde(l = Z xiex“tdch + R'ToZ xt In X4
Rr = 03710 kilm3N . K
exp = LHV3 ¢1.0038 + 0.1365(h/c)
+ 0.0104 (s/c)3
exF = CLHV] 1.0064 + 0.1519(h/e) + 0.0616(0/c)

+ 0.0429 (nlc)3

(2.73)



LHV 1 kg
h, ¢ o (mass
fraction) 0 , , ,

2.9
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